Exoll
1;f_2 \/%, On pose t = 2 — 5z,

—1 dx _9 dt _9 —1 2 2
— == —= == |V2-52 = 212 — £/7

N 5f2\/i 5 [ 275 5‘[

meme pour les autres , on pose t =4x + 5, puist =z —1

[2? Inzdr = %xg’ Inz — éx?’

() e = =3 (4 2l +2)

x

[ a?sin (4) do = 35 cos4x + fwsinds — J2? cosdw
Exo 3
1. % (tan (zy) +y) =y (tan2 Ty + 1)

% (tan (zy) +y) = xtan?zy + 2 + 1

[\
&‘&

Ty \ _ 1 2 2
<1 T a2 y) ~ G (@ + 227 = 1)
Tty _ z3—1
T+a%y) ~  weh?
i < z+y+z |p <$Z>> = lertytz (xln£2 =+ 1)
y * Y
di ( Thytz ln( )) = ie'””z (yln 22— 1)
( rt+y+z In ( >) — leac+y+z (zln z, + 1)
z y

4. L (VrFy= )Z%(\/w—l—y—l):%/ﬁT

&‘Q_

w

d
dz



